CITY OF APACHE JUNCTION

STREET MAINTENANCE AGREEMENT

PROJECT No.:HFS20-20
"Street Striping Fall 2020"

THIS AGREEMENT made and entered into by and between the CITY OF APACHE JUNCTION ("City"), an Arizona municipal corporation, and FRANKLIN STRIPING INC., an Arizona corporation, ("Contractor"), sometimes collectively referred to as the "Parties", or individually as a "Party".

RECITALS

- A. Contractor asserts its willingness, ability and qualifications to provide the completed products, goods and services (the "Work") called for in Maricopa County Cooperative Contract #14097-S and Contractor's Estimate dated July 31, 2020 attached hereto as Exhibit A (the "Contract Documents").
- B. City and Contractor desire to set forth herein their respective responsibilities and the manner and terms upon which Contractor shall complete the Work.
- C. Apache Junction City Code, Vol. I, Article 3-7 has been followed to the extent it applies.

AGREEMENT

NOW, THEREFORE, City retains Contractor to perform, and Contractor agrees to render the Work in accordance with the terms and conditions set forth as follows:

- 1. PROJECT DESCRIPTION: Contractor shall do and perform or cause to be done and performed in a good workmanlike manner, the Work in accordance with and as more fully described in Maricopa County Cooperative Contract #14097-S and Contractor's estimate dated July 31, 2020 (Exhibit A) including, but not limited to:
 - A. The restriping of select street segments within Apache Junction as identified in Exhibit B.
 - B. As related to the street segments identified, intersection striping and markings consisting of turn bays, crosswalks, stop bars, and arrows.

- C. Provide traffic control, including uniformed offduty Apache Junction police officer where needed.
- 2. PAYMENTS & COMPLETION: The total amount payable by the City to the Contractor in the amount not to exceed one hundred thirty thousand five hundred seventy dollars and fifty cents (\$130,570.50) (the "Contract Sum") for the performance of the Work under the Contract Documents. All contracts will be operable for their full term at the rates quoted in the initial bid proposal, unless otherwise extended in writing by the City. Once City finds the Work acceptable under the Contract Documents, City shall promptly submit for processing a certificate for payment stating that to the best of its knowledge, information and belief on the basis of its observation and inspection, the Work has been completed in accordance with the terms and conditions of the Contract Documents and that partial payment or the balance due the Contractor is payable.
- 3. CONTRACT TERM: Contractor hereby fixes the time for completion of said Work as October 31, 2020. This provision does not limit the liability of Contractor for actual damages sustained by City as a result of any breach of contract or warranty by Contractor. Extensions may be approved at times as the Parties mutually deem fit.
- 4. LABOR AND MATERIALS: Unless otherwise provided in the Contract Documents, Contractor shall provide, pay for and insure under the requisite laws and regulations all labor, materials, equipment, tools and machinery, water, heat, utilities, transportation, other facilities and services necessary for the proper execution and completion of the Work, whether temporary or permanent, and whether or not incorporated or to be incorporated in the Work.
- 5. INSPECTIONS AND QUALITY OF WORK: Contractor understands and agrees that inspection of the Work performed hereunder will occur by City. Contractor agrees that City will have the exclusive right to determine, in its sole discretion, whether the Work has been performed in accordance with the Contract Documents. Contractor further agrees to make such corrections to the Work as may be directed by City to conform to said Contract Documents.
- defective workmanship or materials for a period of one (1) year from the date of its final acceptance under the contract, ordinary wear and tear and unusual abuse or neglect excepted. Any omission on the materials at the time of maintenance Work shall not be deemed an acceptance and Contractor will be required to correct defective

Work or materials at any time before acceptance. Within one (1) year from the date of acceptance due to faults in workmanship or materials, Contractor shall begin making the necessary repairs to the satisfaction of City within fourteen (14) calendar days of receipt of written notice from City. Such Work shall include the repair or replacement of other Work or materials damaged or affected by making the above repairs or corrective work all at no additional cost to City. In the case of Work materials or equipment for which warranties are required by the special provisions of the Contract Documents, Contractor shall provide or from the appropriate subcontractor or supplier such warranties addressed to and in favor of City and deliver same to City prior to final acceptance of the Work. Delivery of such warranties shall not relieve Contractor from any obligation assumed under any other provision of the contract. The warranties and guarantees provided in this subsection of the Contract Documents shall be in addition to and not in limitation of any other warrantees, guarantees or remedies required by law, and shall survive the expiration of this Agreement for the time period mentioned above.

- 7. TAXES: Contractor shall pay all license, sales, transaction privilege, consumer, use and other similar taxes for the Work or portions thereof provided by Contractor which are legally enacted at the time bids are received whether or not yet effective or subsequently applicable due to acts of jurisdictions or bodies other than City.
- PERMITS & FEES: Unless otherwise provided in the Contract Documents, Contractor shall secure and pay for all permits, government fees, licenses and inspections necessary for the proper execution and completion of work which are customarily secured after execution of the contract and which are legally required. Contractor shall give all notices and comply with all laws, ordinances, rules, regulations and lawful orders of any public authority beating on the performance of the Work. City permits for this Work will be provided to Contractor at no cost. Contractor represents and warrants that any license necessary to perform the work under this Agreement is current and valid. understands that the activity described Contractor constitutes "doing business in the City of Apache Junction" and Contractor agrees to obtain a business license pursuant to Article 8-2 of the Apache Junction City Code, Vol. I, and keep such license current during the term of this Agreement and after termination of this Agreement any time work is performed pursuant to the warranty provisions set forth in Section 6. Contractor also acknowledges that the tax provision of the Apache Junction Tax Code, Chapter 8A, may also apply and if so, shall obtain a transaction privilege license and/or other licenses as may be required by the city code. Any activity by subcontractors within

the corporate city limits will invoke the same licensing regulations on any subcontractors, and Contractor ensures its subcontractors will obtain any and all applicable licenses. Further, Contractor agrees to pay all applicable privilege and use taxes that are applicable to the activities, products and services provided under this Agreement.

- INDEPENDENT | CONTRACTOR: Contractor shall at all times Contractor's performance of the services Contractor's status as an independent contractor. Contractor's employees shall under no circumstances be considered or held to be employees or agents of City, and City shall have no obligation to pay or withhold state or federal taxes, or provide workers compensation or unemployment insurance for or on behalf of them or Contractor. Contractor shall supervise and direct the delivery of the materials using its best skill and attention. Except as provided in this Agreement, Contractor shall be solely responsible for all construction means, methods, techniques, sequences and procedures, and for coordinating all portions of the Work required by the Contract Documents. Contractor shall be responsible to City for the acts and omissions of its employees, subcontractors and their agents and employees and other persons providing any of the Work.
- 10. SUPERINTENDENT: Contractor shall employ a competent project superintendent who shall be in attendance at the project site during the progress of the Work. The superintendent shall represent and be the community agent of Contractor and communications given to the superintendent shall be as binding as if given to Contractor. Important communications shall be confirmed in writing. The designated superintendent shall be designated for each project and communicated to City before the Work is performed.
- 11. PROGRESS SCIEDULE: Contractor shall, immediately after entering into this Agreement, generate an estimated Work progress schedule, which shall be maintained and updated during the project. Work may progress during regular City business hours only if it is determined by City not to disturb normal operations.
- 12. INDEMNIFICATION: To the fullest extent permitted by law, Contractor shall defend, indemnify and hold harmless City, its elected and appointed officers, officials, agents, and employees from and against any and all liability including but not limited to demands, claims, actions, fees, costs and expenses, including attorney and expert witness fees, arising from or connected with or alleged to have arisen from or connected with, relating to, arising out of, or alleged to have resulted from the acts, errors, mistakes, omissions, the Work or

services of Contractor, its agents, employees, or any tier of Contractor's subcontractors in the performance of this Agreement. Contractor's duty to defend, hold harmless and indemnify City, any special districts, elected and appointed officers, officials, agents, and employees shall arise in connection with any tortious claim, damage, loss or expense that is attributable to bodily injury, sickness, disease, death, or injury to, impairment, or destruction of property including loss of use resulting therefrom, caused by an Contractor's acts, errors, mistakes, omissions, work or services in the performance of this Agreement including any employee of Contractor, any tier of Contractor's subcontractor or any other person for whose acts, errors, mistakes, omissions, work or services Contractor may be legally liable.

- 13. <u>SUBCONTRACTORS</u>: All subcontractors chosen by Contractor will be subject to City's approval. All subcontractors shall be identified by Contractor prior to award of contract. Contractor shall make no substitutions for any subcontractor, person or entity previously selected without the approval of City.
- 14. APPLICABLE LAW AND VENUE: The terms and conditions of this Agreement shall be governed by and interpreted in accordance with the laws of the State of Arizona. Any action at law or in equity brought by either Party for the purpose of enforcing a right or rights provided for in this Agreement, shall be tried in a court of competent jurisdiction in Pinal County, State of The Parties hereby waive all provisions of law providing for a change of venue in such proceeding to any other county. In the event either Party shall bring suit to enforce any term of this Agreement or to recover any damages for and on account of the breach of any term or condition in this Agreement, it is mutually agreed that the prevailing Party in such action shall recover all costs including: all litigation and appeal expenses, collection expenses, reasonable attorneys' necessary witness fees and court costs to be determined by the court in such action.
- purchase and maintain the herein stipulated minimum insurance with companies duly licensed, possessing a current A.M. Best, Inc. Rating of B++6 or approved unlicensed in the State of Arizona with policies and forms satisfactory to City.

All insurance required herein shall be maintained in full force and effect until all Work required to be performed under the terms of the Agreement is satisfactorily completed and formally accepted; failure to do so may, at the sole discretion of City, constitute a material breach of this Agreement.

Contractor's insurance shall be primary insurance as respects the City, and any insurance or self-insurance maintained by City shall not contribute to it.

Any failure to comply with the claim reporting provisions of the insurance policies or any breach of an insurance policy warranty shall not affect coverage afforded under the insurance policies to protect City.

The insurance policies, except Workers' Compensation, shall contain a waiver of transfer rights of recovery (subrogation) against City, its agents, officers, officials and employees for any claims arising out of Contractor's acts, errors, mistakes, omissions, Work or service.

The insurance policies may provide coverage which contains deductibles or self-insured retentions. Such deductible and/or self-insured retentions shall not be applicable with respect to the coverage provided to City under such policies. Contractor shall be solely responsible for the deductible and/or self retention and City, at its option, may require Contractor to secure payment of such deductibles or self-insured retentions by a Surety Bond or an irrevocable and unconditional letter of credit.

City reserves the right to request and to receive, within ten (10) working days, certified copies of any or all of the herein required insurance policies and/or endorsements. City shall not be obligated, however, to review same or to advise Contractor of any deficiencies in such policies and endorsements, and such receipt shall not relieve Contractor from, or be deemed a waiver of, City's right to insist on strict fulfillment of Contractor's obligations under this Agreement.

The insurance policies, except Workers' Compensation and Professional Liability, required by this Agreement, shall name City, its agents, officers, officials and employees as Additional Insureds.

REQUIRED COVERAGE

Commercial General Liability

Contractor shall maintain Commercial General Liability insurance with a limit of not less than \$1,000,000 for each occurrence with a \$2,000,000 Products/Completed Operations Aggregate and a \$2,000,000 General Aggregate limit. The policy shall include coverage for bodily injury, broad form property damage, personal injury, products and completed operations and blanket contractual coverage including, but not limited to, the liability assumed

under the indemnification provisions of this Agreement, which coverage will be at least as broad as that on Insurance Service Office, Inc. Policy Form No. CG 00011093, or any replacements thereof.

Such policy shall contain a severability of interest provision, and shall not contain a sunset provision or commutation clause, nor any provision which would serve to limit third party action over claims.

The Commercial General Liability additional insured endorsement shall be at least as broad as the Insurance Service Office, Inc.'s Additional Insured, Form B, CG 20101185, and shall include coverage for Contractor's operations and products and completed operations.

If required by this Agreement, if Contractor sublets any part of the Work, Contractor shall purchase and maintain, at all times during prosecution of the Work, under this Agreement, an Owner and Contractor's Protective Liability insurance policy for bodily injury and property damage, including death, which may arise in the prosecution of Contractor's Work, under this Agreement. Coverage shall be on an occurrence basis with a limit not less than \$1,000,000 per occurrence, and the policy shall be issued by the same insurance company that issues Contractor's Commercial General Liability insurance.

Automobile Liability

Contractor shall maintain Commercial/Business Liability insurance with a combined single limit for bodily injury and property damage of not less than \$1,000,000 each occurrence with respect to Contractor's owned, hired, and nonowned vehicles assigned to or used in performance of Contractor's Work. Coverage will be at least as broad as coverage code 1, "any auto", (Insurance Service Office, Inc. Policy Form CA 00011293, or any replacements thereof). Such insurance shall include coverage for loading and off loading hazards. hazardous substances, materials or wastes are to be transported, MCS 90 endorsement shall be included and \$5,000,000 per accident limits for bodily injury and property damage shall apply. Workers' Compensation

Contractor shall carry Workers' Compensation insurance to cover obligations imposed by federal and state statutes having jurisdiction of Contractor's employees engaged in the performance of the Work; and, Employer's Liability insurance of not less than \$100,000 for each accident, \$100,000 disease for each employee, and \$500,000 disease policy limit.

By execution of this Agreement, Contractor certifies as follows:

"I am aware and understand the provisions of A.R.S. § 23-900 et seq. which requires every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of this chapter, and I will comply with such provisions before commencing the performance of the Work of this Agreement."

If Contractor has no employees for whom workers' compensation insurance is required, Contractor shall submit a declaration or affidavit to City so stating and covenanting to obtain such insurance if and when Contractor employs any employees subject to coverage.

In case any work is subcontracted, Contractor will require subcontractors to provide Workers' Compensation and Employer's Liability insurance to at least the same extent as required of Contractor.

Certificates of Insurance

Prior to commencing Work or services under this Agreement, Contractor shall furnish City with Certificates of Insurance, or formal endorsements as required by the Agreement, issued by Contractor's insurer(s), as evidence that policies providing the required coverages, conditions and limits required by this Agreement are in full force and effect. The form of the certificates of insurance and endorsements shall be subject to the approval of the Apache Junction City Attorney's Office, shall comply with the terms of this Agreement, and shall be issued and delivered to City Attorney, City of Apache Junction, 300 East Superstition Boulevard, Apache Junction, AZ, 85119.

In the event any insurance policies required by this Agreement are written on a "claims made" basis, coverage shall extend for two (2) years past completion and acceptance of Contractor's Work and as evidenced by annual Certificates of Insurance.

If a policy does expire during the life of the Agreement, a renewal certificate must be sent to City thirty (30) calendar days prior to the expiration date.

All Certificates of Insurance shall be identified with bid serial number and title. Policies or certificates and completed forms of City's Additional Insured Endorsement (or a substantially equivalent insurance company form acceptable to the City Attorney) evidencing the coverage required by this section shall be filed with the City and shall include the City as an additional insured. The policy or policies shall be in the usual

form of a public liability insurance, but shall also include the following provision:

"Solely as respects work done by or on behalf of the named insured for the City of Apache Junction, it is agreed that the City of Apache Junction and its officers and employees are added as additional insureds under this policy."

Insurance required herein shall not expire, be canceled, or materially changed without thirty (30) calendar days' prior written notice to City.

- 16. CHANGE ORDERS: A change order is a written order to Contractor, approved by the City representative, issued after execution of this maintenance agreement authorizing a change in the Work or an adjustment in the maintenance agreement sum or the maintenance agreement time. A change order signed by Contractor indicates their agreement therewith. City may, without invalidating this maintenance agreement, order changes in the Work within the general scope of the maintenance agreement consisting of additions, deletions or other revisions, the maintenance agreement sum and the maintenance agreement being adjusted accordingly. All such changes in the Work shall be authorized by change order and shall be performed under the applicable conditions of this maintenance agreement. The City representative shall have authority to order minor changes in the Work not involving an adjustment in the maintenance agreement sum or extension of main enance agreement time and not inconsistent with the intent of this maintenance agreement. All such changes shall be effected by written order and shall be binding upon City and Contractor. All change order disagreements of the Contractor shall be submitted in writing to the City Manager within five (5) calendar days after the difference of opinion or grievance Within five (5) calendar days of receiving a written occurs. grievance, the City Manager shall respond in writing to the Contractor and city staff representative. The City Manager's decision shall be final and binding.
- themselves, their partners, successors, assigns and legal representatives to the other Party hereto and to the partners, successors, assigns and legal representatives of such other Party in respect to all covenants, agreements and obligations contained in the contract documents. Neither Party to the contract shall assign the contract or sublet it as a whole or delegates its duties thereunder without the written consent of the other, nor shall Contractor assign any monies due or to become due to or to become due to it without the previous written consent of City.

- 18. WRITTEN NOTICE: Written notice shall be deemed to have been duly served if delivered in person to the individual or member of the firm or entity, or to an office of the corporation for whom it was intended or if delivered at or sent registered or certified mail, return receipt requested, and first class postage prepaid to the last business address known to them who gives the notice.
- 19. CLAIMS FOR DAMAGES: Should either Party to the contract suffer injury or damage to personal property because of any act or omission of the other Party or of their employees or agents for whose acts they are legally liable, claims shall be made in writing to such other parties within a reasonable time after the first observance of such injury or damages.
- 20. PAYMENT & PERFORMANCE BONDS: City shall have the right to require Contractor to furnish bonds covering the faithful performance of the contract and the payment of all obligations arising hereunder. When required, standard bond forms must be completed by Contractor, and Contractor agrees to conform to all provisions set forth in such forms.
- 21. SAFETY: Contractor and/or its subcontractors shall be solely responsible for job safety at all times.
- 22. RIGHTS & REMEDIES: The duties and obligations imposed by the Contract Documents and the rights and remedies available hereunder shall be in addition to and not a limitation of any duties, obligations, rights and remedies otherwise imposed or available by law. No action or failure to act by City or Contractor shall constitute a waiver of any right or duty afforded any of them under the contract, nor shall any action or failure to act constitute an approval of or an acquiescence to any breaches hereunder except as may be specifically agreed to in writing.
- FORCE MAJEURE: Neither City nor Contractor, as the case may be, shall be considered not to have performed its obligations under this Agreement in the event of enforced delay (an "Enforced Delay") due to causes beyond its control and without its fault or negligence or failure to comply with applicable laws, including, but not restricted to, acts of God, fires, floods, epidemics, pandemics, quarantine, restrictions, embargoes, labor disputes, and unusually severe weather or the delays of subcontractors or materialmen due to such causes, acts of a public enemy, war, terrorism or act of terror (including but limited to bio-terrorism or eco-terrorism), radiation. blockade, insurrection, riot, labor strike interruption, extortion, sabotage, or similar occurrence or any exercise of the power of eminent domain of any governmental body

on behalf of any public entity, or a declaration of moratorium or similar hiatus (whether permanent or temporary) by any public entity directly affecting the obligations under this Agreement. In no event will Enforced Delay include any delay resulting from unavailability for any reason of labor shortages, or the unavailability for any reason of particular Contractors, subcontractors, vendors or investors desired by Contractor in connection with the obligations under this Agreement. Contractor agrees that Contractor alone will bear all risks of delay which are not Enforced Delay. In the event of the occurrence of any such Enforced Delay, the time or times for performance of the obligations of the Party claiming delay shall be extended for a period of the Enforced Delay; provided, however, that the Party seeking the benefit of the provisions of this Section shall, within thirty (30) calendar days after such Party knows or should know of any such Enforced Delay, first notify the other Party of the specific delay in writing and claim the right to an extension for the period of the Enforced Delay; and provided further that in no event shall a period of Enforced Delay exceed ninety (90) calendar days.

24. TERMINATION:

- A. TERMINATION BY CITY: City shall be permitted to terminate this Agreement if in the discretion of the Public Works Director or his or her designee, they believe Contractor has failed to meet the terms of this Agreement. City shall provide Notice of Termination to Contractor by Certified U.S. Mail ten (10) calendar days before such termination takes effect.
- B. TERMINATION BY CONTRACTOR: Contractor may terminate this Agreement if City fails to make payment as agreed upon in this document. Any other termination will be deemed a breach of contract by Contractor. Contractor shall provide Notice of Termination to City by Certified U.S. Mail ten (10) calendar days before such termination takes effect.
- 25. RECORDS: Records of Contractor's labor, payroll and other costs pertaining to this Agreement shall be kept on a generally recognized accounting basis and made available to City for inspection on request. Contractor shall maintain records for a period of at least two (2) years after termination of this Agreement, and shall make such records available during that retention period for examination or audit by City personnel during regular business hours.
- 26. AMENDMENT: It is mutually understood and agreed that no alteration or variation of the terms and conditions of this Agreement shall be valid unless made in writing and signed by the Parties hereto, and that oral understandings or agreements not

incorporated herein shall not be binding on the Parties. The representatives of the Parties (signatory for Contractor noted below or his or her designee, and the City Manager, or his or her designee), shall be authorized to execute future amendments or extensions of this Agreement.

- 27. ENTIRE AGREEMENT: This Agreement and any attachments represent the entire agreement between City and Contractor and supersede all prior negotiations, representations or agreements, either express or implied, written or oral. It is mutually understood and agreed that no alteration or variation of the terms and conditions of this Agreement shall be valid unless made in writing and signed by the parties hereto. Written and signed amendments shall automatically become part of the supporting documents, and shall supersede any inconsistent provision therein; provided, however, that any apparent inconsistency shall be resolved, if possible, by construing the provisions as mutually complementary and supplementary.
- 28. SEVERABILITY: City and Contractor each believe that the execution, delivery and performance of this Agreement are in compliance with all applicable laws. However, in the unlikely event that any provision of this Agreement is declared void or unenforceable (or is construed as requiring City to do any act in violation of any applicable laws, including any constitutional provision, law, regulation, or city code), such provision shall be deemed severed from this Agreement and this Agreement shall otherwise remain in full force and effect; provided that this Agreement shall retroactively be deemed reformed to the extent reasonably possible in such a manner so that the reformed agreement (and any related agreements effective as of the same date) provide essentially the same rights and benefits (economic and otherwise) the Parties as if such severance and to reformation were not required. Unless prohibited by applicable laws, the Parties further shall perform all acts and execute. acknowledge and/or deliver all amendments, instruments and consents necessary to accomplish and to give effect to the purposes of this Agreement, as reformed.
- 29. TIME IS OF THE ESSENCE: Time is of the essence with respect to all provisions in this Agreement. Any delay in performance by either Party shall constitute a material breach of this Agreement.
- 30. CONFLICT OF INTEREST: This Agreement is subject to, and may be terminated by City in accordance with, the provisions of A.R.S. § 38-511.

- BOYCOTT OF THE STATE OF ISRAEL: The Parties acknowledge A.R.S. \$\sqrt{8}\$ 35-393 through 35-393.03, as amended, which forbids public entities from contracting with Contractors who engage in boycotts of the State of Israel. Should Contractor under this Agreement engage in any such boycott against the State of Israel, this Agreement is automatically terminated. Any such boycott is a material breach of contract and will subject Contractor to monetary damages, including but not limited to, consequential and liquidated damages.
- 32. COMPLIANCE WITH FEDERAL AND STATE LAWS: Contractor understands and acknowledges the applicability of the American with Disabilities Act, the Immigration Reform and Control Act of 1986 and the Drug Free Workplace Act of 1989 to the services performed under this Agreement.

As required by A.R.S. § 41-4401, Contractor hereby warrants its compliance with all federal immigration laws and regulations that relate to its employees and A.R.S. § 23-214(A). further warrants that after hiring an employee, Contractor will verify the employment eligibility of the employee through the E-Verify program. If Contractor uses any subcontractors in performance of services, subcontractors shall warrant their compliance with all federal immigration laws and regulations that relate to its employees and A.R.S. § 23-214(A), shall further warrant that subcontractors after hiring employee, such subcontractor verifies the employment eligibility of the employee through the E-Verify program. A breach of this warranty shall be deemed a material breach of the Agreement that is subject to penalties up to and including termination of this Agreement. Contractor is subject to a penalty of \$100 per day for the first violation, \$500 per day for the second violation, and \$1,000 per day for the third violation. City at its option may terminate this Agreement after the third violation. Contractor shall not be deemed in material breach of this Agreement if the Contractor and/or subcontractors establish compliance with the employment verification provisions of Sections 274A and 274B of the federal Immigration and Nationality Act and the E-Verify requirements contained in A.R.S. § 23-214(A). City retains the legal right to inspect the papers of any Contractor or subcontractor employee who works under this Agreement to ensure that the Contractor or subcontractor is complying with the warranty. Any inspection will be conducted after reasonable notice and at reasonable times. If state law is amended, the Parties may modify this paragraph consistent with state law.

IN WITNESS WHEREOF the Agreement to be signed by the of this day of	e Parties hereto have caused this eir duly authorized representative as
JUNE MESSNIORE Notary Public - State of Artzone MARICOPA COUNTY Commission # 571563 Expires October 27 2023 June Measure	CONTRACTOR: FRANKLIN STRIPING INC., an Arizona corporation By: Raudy Frankler Its: FRE Sident / CE 0
	CITY: CITY OF APACHE JUNCTION, ARIZONA, an Arizona municipal corporation
	By: Jeff Serdy
	Its: Mayor
ATTEST:	
Jennifer Peña City Clerk	

APPROVED AS TO FORM:

Richard J. Stern

City Attorney

Exhibit A



Franklin Striping, Inc. 2832 S. 45th Street Phoenix, AZ 85040 Phone: (480) 898-1180 Fax: (480) 668-9688

QUOTE NO:

076520

ATTENTION: ESTIMATING DEPARTMENT

PROJECT: CITY OF APACHE JUNCTION STRIPING 2020
PROJECT # 14097-S
LOCATION VARIOUS LOCATIONS

DATE: 7/31/2020

ITEM NO.	SCOPE OF WORK		QUANTITY	UNIT	UNIT PRICE	TOTAL COST
	RESTRIPING, WATER BORN	E PAINT (NO LAYOUT	REQUIRED)			
	GUADALUPE RD - IRONWOOD	TO DELAWARE	_			
	ROADWAY STRIPING W/BEADS (LO	ONG LINE) - WHITE (4")	7495	LF	\$0.10	\$749,50
	ROADWAY STRIPING W/BEADS (LO	ONG LINE) - YELLOW (4")	5520	LF	\$0.10	\$552.00
	INTERSECTION STRIPING - CROSS	WALK (12") WHITE	375	LF	\$0.40	\$150.00
	INTERSECTION STRIPING - (*) W	HITE	270	LF	\$0.20	\$54.00
	INTERSECTION STRIPING - ARROV		4	EA	\$35.00	\$140.00
	PAVEMENT WORDING - ALL LETTE		8	EΑ	\$20.00	\$160.00
	CORTEZ RD - BASELINE TO END	OFROAD				
	ROADWAY STRIPING W/BEADS (LO		3580	LF	\$0.10	\$358.00
	INTERSECTION STRIPING - CROSS	WALK (12") WHITE	40	LF	\$0.40	\$16.00
	29TH AVE - IDAHO TO WINCHE					
	ROADWAY STRIPING W/BEADS (LO		2480	LF	\$0.10	\$248.00
	INTERSECTION STRIPING - CROSS	WALK (12") WHITE	45	LF	\$0.40	\$18.00
	WINCHESTER RD - 29TH AVE T					
	ROADWAY STRIPING W/BEAUS (LO		1235	LF	\$0.10	\$123.50
	ROADWAY STRIPING W/BEAUS (LC		3000	LF	\$0.10	\$300.00
	INTERSECTION STRIPING - COSS	WALK (12") WHITE	55	LF	\$0.40	\$22.00
	SOUTHERN AVE - IDAHO TO IR					
	ROADWAY STRIPING W/BEADS (LC		3990	LF	\$0.10	\$399.00
	ROADWAY STRIPING W/BEADS (LC		10890	LF	\$0.10	\$1,089.00
	INTERSECTION STRIPING - CROSS		415	LF	\$0.40	\$166.00
	INTERSECTION STRIPING - CROSS		780	LF	\$0.40	\$312.00
	INTERSECTION STRIPING - (**) W		540	LF	\$0.20	\$108.00
	INTERSECTION STRIPING - ARROY	VS (LI., RT., ST.)	10	EA	\$35.00	\$350.00
	DELAWARE - SOUTHERN TO BE					
	ROADWAY STRIPING W/BEADS (LO		9220	LF	\$0.10	\$922.00
	ROADWAY STRIPING W/BEADS (LC		10630	LF	\$0.10	\$1,063.00
	INTERSECTION STRIPING - CROSS		395	LF	\$0.40	\$158.00
	INTERSECTION STRIPING - (**) W		265	LF	\$0.20	\$53.00
	INTERSECTION STRIPING - ARROW	VS (LT., RT., ST.)	3	EA	\$35.00	\$105.00
	BIKE LANE SYMBOL		6	EA	\$30.00	\$180.00
	PHELPS DR - APACHE TRAIL TO			φ_		
	ROADWAY STRIPING W/BEADS (LC		140	LF	\$0.10	\$14.00
	ROADWAY STRIPING W/BEADS (LO		5430	LF	\$0.10	\$543.00
	INTERSECTION STRIPING - CROSS		225	LF	\$0.40	\$90.00
	INTERSECTION STRIPING - (8") W		745	LF	\$0.20	\$149.00
	INTERSECTION STRIPING - ARROW	V5 (LL., RT., ST.)	17	EA	\$35.00	\$595.00

WINCHESTER RD - OLD WEST HWY TO 16TH AVE				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	6035	LF	\$0.10	\$603.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	6800	۱F	\$0.10	\$680.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	440	LF	\$0.40	\$176.00
INTERSECTION STRIPING - (8") WHITE	765	LF	\$0.20	\$153.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	7	EA	\$35.00	\$245.00
BIKE LANE SYMBOL	14	EA	\$30.00	\$420.00
16TH AVE - IDAHO TO ROYAL PALM RD				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	3255	LF	\$0.10	\$325.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	4570	LF	\$0.10	\$457.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	320	LF	\$0.40	\$128.00
INTERSECTION STRIPING - (8") WHITE	250	LF	\$0.20	\$50.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	3	EA	\$35.00	\$105.00
BIKE LANE SYMBOL	4	ΕA	\$30.00	\$120.00
346 3 46 311336	•	<u> </u>	300.00	φ120.00
TOMAHAWK RD - OLD WEST HWY TO SOUTHERN AVE				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	4320	LF	\$0.10	\$432.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	7230	LF	\$0.10	•
INTERSECTION STRIPING - CROSS WALK (12") WHITE	325	LF		\$723.00
INTERSECTION STRIPING - (R") WHITE			\$0.40	\$130.00
	860	LF	\$0.20	\$172.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	7	EA	\$35.00	\$245.00
HILTON RD - BROADWAY TO SUPERSTITION BLVD				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	9980	LF	\$0.10	\$998.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	9980	LF	\$0.10	\$998.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	120	LF	\$0.40	\$48.00
\$1.000 C C C C C C C C C C C C C C C C C C				
STARR RD - OLD WEST HWY TO TEEPEE				
Roadway Striping W/Beads (Long Line) - White (4")	18310	LF	\$0.10	\$1,831.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	17600	LF	\$0.10	\$1,760.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	225	LF	\$0.40	\$90.00
STEP OUR STEP ANY TORSES HIS TORSES AND A STEEL AND A				
CORTEZ - SOUTHERN TO LOST DUTCHMAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	28950	LF	\$0.10	\$2,895.00
Roadway Striping W/Beads (Long Line) - Yellow (4")	28950	LF	\$0.10	\$2,895.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	385	LF	\$0.40	\$154.00
				·
IRONWOOD DR - MCKELLIPS TO LOST DUTCHMAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	10420	LF	\$0.10	\$1,042.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	2730	LF	\$0.10	\$273.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	<i>7</i> 5	L۶	\$0.40	\$30.00
				4
DELAWARE - SUPERSTITION BLVD TO LOST DUTCHMAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	9460	LF	\$0.10	\$946.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	9460	LF	\$0.10	\$946.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	285	LF	\$0.40	\$114.00
				4
IRONWOOD - APACHE TRAIL TO TEEPEE				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	4575	LF	\$0.10	\$457.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	10780	LF	\$0.10	\$1,078.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	640	LF	\$0.40	\$256.00
INTERSECTION STRIPING - (8") WHITE	875	LF	\$0.20	\$175.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	8	EA	\$35.00	\$280.00
The state of the s	•	- 5	\$33.00	<i>\$</i> 200.00
VALLEY DR - SUPERSTITION BLVD TO LOST DUTCHMAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	8385	LF	\$0.10	\$838.50
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	9560	LF	,	•
INTERSECTION STRIPING - CROSS WALL (12") WHITE	9360 190	LF.	\$0.10 \$0.40	\$956.00
THE PROPERTION STREETING - CROSS WARE (TS.) WHITE	130	LF	⊅ ∪. 4U	\$76.00

IDAHO - APACHE TRAIL TO LOST DUTCHMAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	16840	LF	\$0.10	\$1,684.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	14170	LF	\$0.10	\$1,417.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	1200	LF	\$0.40	\$480.00
INTERSECTION STRIPING - CROSS WALK (12") YELLOW	820	LF	\$0.40	\$328.00
INTERSECTION STRIPING - (8") WHITE	940	LF	\$0.20	\$188.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	7	EA	\$35.00	\$245.00
BIKE LANE SYMBOL	20	EA	\$30.00	\$600.00
DIRE CARE STADOL	20	LA.	\$30.00	\$000.00
SCENIC ST - GOLDFIELD TO END OF ROAD				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	18145	LF	\$0.10	\$1,814.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	18800	LF	\$0.10	
INTERSECTION STRIPING - CROSS WALK (12") WHITE				\$1,880.00
INTERSECTION STRIPING - CROSS WALK (12) WILLS	205	LF	\$0.40	\$82.00
MINCTON ST. TRANS TO COLDETE D				
JUNCTION ST - IDAHO TO GOLDFIELD	17500		40.40	44 750 00
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	17590	LF	\$0.10	\$1,759.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	19650	LF	\$0.10	\$1,965.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	730	LF	\$0.40	\$292.00
INTERSECTION STRIPING - (8") WHITE	705	LF	\$0.20	\$141.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	1	EA	\$35.00	\$35.00
2ND AVE - ROYAL PALM TO OUTPOST RD				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	2320	LF	\$0.10	\$232.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	3010	LF	\$0.10	\$301.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	70	LF	\$0.40	\$28.00
22 (0.4%) 2 (2.5%) - 10 (1.4%) 2 (2.5%)				
4TH AVE - WINCHESTER TO GOLDFIELD				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	15335	LF	\$0.10	\$1,533.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	16970	LF	\$0.10	\$1,697.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	180	LF	\$0.40	\$72.00
OLD WEST HWY/APACHE TRAIL - MERIDIAN TO ADOT I	ROW			
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	101705	LF	\$0.10	\$10,170.50
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	37935	LF	\$0.10	\$3,793.50
INTERSECTION STRIPING - CROSS WALK (12") WHITE	7550	LF	\$0.40	\$3,020.00
INTERSECTION STRIPING - (8") WHITE	12290	LF	\$0.20	\$2,458.00
INTERSECTION STRIPING - ARROWS (LT., RT., ST.)	111	EA	\$35.00	\$3,885.00
PAVEMENT WORDING - ALL LETTERS AND/OR NUMBERS	132	EA	\$20.00	\$2,640.00
BIKE LANE SYMBOL	90	EΑ	\$30.00	\$2,700.00
Section 1				,
FOOTHILL ST - IDAHO TO MERIDIAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	19080	LF	\$0.10	\$1,908.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	19750	LF	\$0.10	\$1,975.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	225	LF	\$0.40	\$90.00
NEW COLUMN		\	400.0	450.00
TEEPEE ST - IDAHO TO MERIDIAN				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	19060	LF	\$0.10	\$1,906.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	19680	LF	\$0.10	\$1,968.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	630	LF	\$0.40	\$252.00
				*
SHIPROCK ST - GOLD TO PLAZA				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	6150	LF	\$0.10	\$615.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	6100	LF	\$0.10	\$610.00
INTERSECTION STRIPING - CROSS WALK (12") WHITE	115	LF	\$0.40	\$46.00
			42.15	ψ.0.00
SUPERSTITION BLVD - MERIDIAN TO ARROYA DR				
ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")				
KONDANI SIKILIMI MADENDE ILMMO LIMEE - MAUELLI - I	27565	I F	\$በ 1በ	<u>\$</u> 2 756 50
	27565 47550	LF I F	\$0.10 \$0.10	\$2,756.50 \$4,755.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	47550	LF	\$0.10	\$4,755.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4") INTERSECTION STRIPING - CROSS WALK (12") WHITE	47550 1995	LF LF	\$0.10 \$0.40	\$4,755.00 \$798.00
ROADWAY STRIPING W/BEADS (LONG LINE) - YELLOW (4")	47550	LF	\$0.10	\$4,755.00

TOTAL	BID PRICE:		- V		\$130,570.50
	UNIFORMED OFF-DUTY OFFICER & OFFICIAL VEHICLE	224	HR	\$95.00	\$21,280.00
	MOBILIZATION/DEMOBILIZATION (ZONE 1)	14	EA	\$300.00	\$4,200.00
	BARRICADE VEHICLE RENTAL WITH DRIVER	96	HR	\$65.00	\$6,240.00
	TRAFFIC CONTROL			,,,,,,,	******
			LF	\$0.00	\$0.00
	16TH AVE / FAST OF SAGUARO DR INTERSECTION STRIPING - CROSS WALK (12") YELLOW	225	ĹF	\$0.40	\$90.00
	INTERSECTION STRIPING - CROSS WALK (12") YELLOW	235	LF	\$0.40	\$94.00
	BROADWAY AVE @ DESERT VISTA ELEMENTARY SCHOOL				
	PAVEMENT WORDING - ALL LETTERS AND/OR NUMBERS	4	EA	\$20.00	\$80.00
	INTERSECTION STRIPING - ALROWS (LT., RT., ST.)	12	EA	\$35.00	\$420.00
	INTERSECTION STRIPING - (8") WHITE	675	LF	\$0.20	\$135.00
	INTERSECTION STRIPING - CROSS WALK (12") WHITE	570	LF	\$0.40	\$228.00
	Roadway Striping W/Beads (Long Line) - Yellow (4")	3450	LF	\$0.10	\$345.00
	ROADWAY STRIPING W/BEADS (LONG LINE) - WHITE (4")	300	LF	\$0.10	\$30.00
	APACHE TRAIL - APACHE TRAIL TO IDAHO				

^{***} ADDITIONAL MOBILIZATIONS WILL BE CHARGED AT \$300.00 EACH.

To schedule projects, email us at: scheduling@franklinstriping.com

DISCLAIMER:

Quantities shown above are an estimate only, actual field quantities installed will be used for billing purpose. Excludes: Barricades, Bonds, permits, survey, sweeping, as builts, water supply, dump site, shadow truck, diamond grinding, obliteration, slurry seal or sealer for obliteration scarring & removal of chip seal markers. Additional Mobilization Charges May Be Applied From Circumstances Beyond Our Control Which Would Prohibit The Above Mentioned Work From Being Completed As Scheduled.

(i.e. UNMOVED VEHICLES, TRAILER, SPRINKLERS, OR EXCESSIVELY DIRTY AREAS ETC.)

FSI REQUIRES 15 DAYS NOTICE PRIOR TO ANY PAVEMENT MARKING NEEDED

All material is guaranteed to be as specified and preformed in accordance with the drawings and specifications submitted for the above mentioned work and completed in a substantial workmanlike manner. Payment terms to be NET 30. This proposal is valid for 60 days. Licensed and Bonded.

Lic No. 115703 & 238964

SINCERELY, PHIL KOWALCZYK

^{**} Contractor is to provide Striping Survey. Reference ADOT Standard Specifications 2008 Edition

^{**} Sec.-925-3.01, paragraph 7 & 8. Contractor to supply Survey Control points to be set every 50ft.

Exhibit B

City of Apache Junction Street Striping and Markings - Fall 2020

